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I ntroductiony |

How would, yous plob the coordinates on the gridy?
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I ntroduction 2

What are the coordinates
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of the vertices of the W
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1. (1,1) (5,1) (5,5) (1,5)

Polygon =

2.(1,3) (5,3) (5,5) (1,5)

Polygon =

3.(0,3) (3,6) (6,3) (3,0)

Polygon =
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4. (2,6) (4,6) (4,0) (2,0) 5.(1,1) (6,5) (6,1) 6. (1,4) (3,5) (5,4) (4,2) (2,2)

Polygon = Polygon = Polygon =




Do it

ANSW
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1.(1,10(5,1)(5,5)(1,5) 2.(1,3)(5,3)(5,5)(1,5) 3.(0.3)(3,6)(6,3)(3,0)
Polygon= Sguare Polygon= Rectangle Polygon = Sguare
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4.(2,6)(4,6)(4,0)(2,0)

Polygon = Rectangle

5.(1,1)(6,5) (6,1)
Right-Angled
Polygon = Triangle

6.(1,4)(35)(54)(4.2)(22)
Irreqular
Polygon = peptagon
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[ The point is at (8, 3) }
Mo

P
B

= The point is at (3, 8) ]

Alex
Who do you agree with? Can you spot
the mistake the other child has made?
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Annie is finding co-ordinates where the x-
coordinate and the y-coordinate add up
to 8.

For example: (3, 5) 3+45=8

Find all of Annie's coordinates and plot
them on the grid. What do you notice?

Now do the same for a different total.



R%BOWWPMMSOUW

F Y
10

9

g8

7

&

5

d

3 x

3

1

“__'['

Ol 1 2 3456 7 8 310

[ The point is at (8, 3) ;
Mo
l "3 5 { The point is at (3, B) ]

Alex
Who do you agree with? Can you spot
the mistake the other child has made?

ANSWERS

Mo is correct. Alex
has made a
mistake by
thinking the first
number is the y-
coordinate.

Annie's
coordinates form a
diagonal line (8, 0)
to (0, 8)
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Annie is finding co-ordinates where the x-
coordinate and the y-coordinate add up
to 8.

For example: (3, 5) I+5=8

Find all of Annie's coordinates and plot
them on the grid. What do you notice?

Mow do the same for a different total
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What iz ot theze coordinates | | Wirite the coordinate of thase Plot theze coordinatss on
on tha pirate map? places on tha pirate map: tha grid using a cros:

(€85) - ’ - ) (B,1)

(G,6) = 09 - ( ) (N,5)

(Le) - -( ) (L,5)

an - P - ) (D,9)

(a8) = *@ -4 ) (H,10)
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Yihat is at these coordinates Write the coordinate of these Flot hese coordnates on
on the prate map? places on the pirate mag the grid using a cross.
€S- pirate ®$ e (B.1)
©.6= gold coin ‘;i) = G. 4 (N.5)
8= sword gf =( N. 8 (1.5)
W= treasure P = C. 4) (D.9)
(A8= mermaid 9 =(N. 2 (H,10)
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